

then a particular solution of Eq. (16) is

$$Y(t) = -y_1(t) \int_{t_0}^t \frac{y_2(s)g(s)}{W(y_1, y_2)(s)} ds + y_2(t) \int_{t_0}^t \frac{y_1(s)g(s)}{W(y_1, y_2)(s)} ds, \quad (28)$$

where t_0 is any conveniently chosen point in I . The general solution is

$$y = c_1 y_1(t) + c_2 y_2(t) + Y(t), \quad (29)$$

as prescribed by Theorem 3.5.2.

By examining the expression (28) and reviewing the process by which we derived it, we can see that there may be two major difficulties in using the method of variation of parameters. As we have mentioned earlier, one is the determination of $y_1(t)$ and $y_2(t)$, a fundamental set of solutions of the homogeneous equation (18), when the coefficients in that equation are not constants. The other possible difficulty lies in the evaluation of the integrals appearing in Eq. (28). This depends entirely on the nature of the functions y_1 , y_2 , and g . In using Eq. (28), be sure that the differential equation is exactly in the form (16); otherwise, the nonhomogeneous term $g(t)$ will not be correctly identified.

A major advantage of the method of variation of parameters is that Eq. (28) provides an expression for the particular solution $Y(t)$ in terms of an arbitrary forcing function $g(t)$. This expression is a good starting point if you wish to investigate the effect of variations in the forcing function, or if you wish to analyze the response of a system to a number of different forcing functions.

PROBLEMS

In each of Problems 1 through 4, use the method of variation of parameters to find a particular solution of the given differential equation. Then check your answer by using the method of undetermined coefficients.

1. $y'' - 5y' + 6y = 2e^t$
2. $y'' - y' - 2y = 2e^{-t}$
3. $y'' + 2y' + y = 3e^{-t}$
4. $4y'' - 4y' + y = 16e^{t/2}$

In each of Problems 5 through 12, find the general solution of the given differential equation. In Problems 11 and 12, g is an arbitrary continuous function.

5. $y'' + y = \tan t$, $0 < t < \pi/2$
6. $y'' + 9y = 9 \sec^2 3t$, $0 < t < \pi/6$
7. $y'' + 4y' + 4y = t^{-2}e^{-2t}$, $t > 0$
8. $y'' + 4y = 3 \csc 2t$, $0 < t < \pi/2$
9. $4y'' + y = 2 \sec(t/2)$, $-\pi < t < \pi$
10. $y'' - 2y' + y = e^t/(1+t^2)$
11. $y'' - 5y' + 6y = g(t)$
12. $y'' + 4y = g(t)$

In each of Problems 13 through 20, verify that the given functions y_1 and y_2 satisfy the corresponding homogeneous equation; then find a particular solution of the given nonhomogeneous equation. In Problems 19 and 20, g is an arbitrary continuous function.

13. $t^2 y'' - 2y = 3t^2 - 1$, $t > 0$; $y_1(t) = t^2$, $y_2(t) = t^{-1}$
14. $t^2 y'' - t(t+2)y' + (t+2)y = 2t^3$, $t > 0$; $y_1(t) = t$, $y_2(t) = te^t$
15. $ty'' - (1+t)y' + y = t^2 e^{2t}$, $t > 0$; $y_1(t) = 1+t$, $y_2(t) = e^t$
16. $(1-t)y'' + ty' - y = 2(t-1)^2 e^{-t}$, $0 < t < 1$; $y_1(t) = e^t$, $y_2(t) = t$
17. $x^2 y'' - 3xy' + 4y = x^2 \ln x$, $x > 0$; $y_1(x) = x^2$, $y_2(x) = x^2 \ln x$